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OMB METAR U (Used: 181)

mean: 0.3107 rms: 1.9590 sid:

1.9342
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OMA METAR U (Used: 181)
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OMB METAR V (All: 369)
mean: 0.1655 rms: 1.3784 std: 1.3684
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OMB METAR V (Used: 182)
mean: 0.3355 rms: 1.9627 std: 1.9338
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OMA METAR YV (Used: 182)
mean: 0.1467 rms: 1.6079 std: 1.6012
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OMB METAR T (All: 392)

mean: 0.3719 rms: 1.8333 std: 1.7952
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OMB METAR T (Used: 199)
mean: 0.7325 rms: 2.5730 std: 2.4665
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OMA METART (Used: 199)
mean: 0.4609 rms: 2.2644 std: 2.2169
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OMB METAR Q (All: 382)
mean: 1.0500 rms: 1.9893 sid: 1.6896
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OMB METAR Q (Used: 190)
mean: 2.1110 rms: 2.8207 std: 1.8708
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OMA METAR Q (Used: 190)

mean: 1.5093 rms: 2.2299 std: 1.6415
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OMB METAR P (All: 396)

mean: 0.4144 rms: 1.0347 std: 0.9481
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